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And what if by one who is lacking atonement — 297192 0IR 7Y

OVERVIEW

"0 " teaches us that we derive a w2 *v°27 through a 1"p from 0°7192 “on.! If a
0’7192 70 who is permitted to eat 7n17N, nevertheless he is wTp 501, 0 a WHw
which is 2109 by 72170 should certainly make a w7p2 *y2.”

mooIn responds to an anticipated difficulty:4
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Even the one who maintains that 7 is effective even if it voids the 1'p,

nevertheless -
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Here even this 7" will admit that we do not say 17, since we can derive through

a E» 1, the XMW capabilities of a W »w from 25> "EW -
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For a 2" is just like a *w>>w since he does not do anything negative to ;7210

and nonetheless he is w7 90 -
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So the same law applies to every "2 it does no harm to 72170 and it should be %01
w7pn by making it a "¥°27 -
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Therefore this 1''p here is strong, and it is not applicable to say 7, that -
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' A o932 7017 is one (a a1 or a NTY) who completed their 777w »* and were already 921, but they still need to
bring a 127p in order to eat 2°w7p. They may however eat 717n.
% Not only is a 2>1193 70w forbidden to eat wTp but he is 2019 the wTp that he touches.
? See “Thinking it over’ # 2.
* Seemingly we can say 1°7 here (X7 MI0K); the X1 of a " %W is that it is 75902 2108, so 17 that by wpi a "W is
also 9109; how do we know that a >w">¥ can make a w7Ip2 *v>27?!
% 11970 ' agrees that we say 7 only in a case that even after we say 1°7 the 1"p teaches us something new. However,
if when we implement 1°7 the 1" is meaningless, it teaches us nothing new, we do not say 1"7. However the 0°non
maintain that even in a case of 1" 719 we still say 1°7.
% If we would implement 1°7 here that by w7p there is only a *w*>w (see footnote # 4), the 1"p accomplishes nothing
for even without the 1"p we know that by w7pi there is a *w*%w. [See the X3 shortly that we know it from a oo,
and see the following 11717 7"7 '0Wn.] However since the 0°n5n maintain that even 7 11K "p TI9°17 R (see
footnote # 5), so let us say 17 here as well.
Tapun 7 (literally “just as we find”) refers to a type of 71 that if we find a certain law in a particular case we apply
the law to other cases (unless there is reason to distinguish between the cases).
¥ If a 5" would be stronger than a *w*>w (a *1) he would be 7170 012 and be 7271102 MoK because there is a “Ww*Hw
by ann.
? Anything which is a *w"9w does not do anything to 7.
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Just like there by 72170 there is a " >w and no more (no °¥°27), so here too (by
wTp) there is a " »w and no more; the 1°¥» 7n disallows applying 7 here.

SUMMARY
There 1s a 11°¥n 71 to support this 1", therefore 1°7 is not applicable.

THINKING IT OVER
1. According to moon that we can derive a wTp2 °¥°27 through a 1°x¥n 7n, why is
there a need for a 1"p altogether?!'’

2. How is there a 1" here; in what way is a *w°?w more a1 than a 0719 ~owmn. !
A 2"\n can eat 77N, but presumably a aR™WY wHw (if we can imagine a person
being a *v°%w) would also be able to eat 0. When we say that by 12170 there is
a "W that means that if a »1w touches 7170 it becomes a “w°%w, but a *w°>w is the
equivalent of a 07193 7017 (they both do no harm to 717n), but not that a *w>Hw is
more 7Var than 3"mn!

10 See nov wxn.
' See footnote # 3.
12 See Hxmw 927.
2

TosfosInEnglish.com



